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General Insiiuctions: _

i All questioms are compulsory.
2. The auestion paper consists of 31 questions divided inio four sections A, B, &
Faa-in D-Sectien-A comprises of 4 questions of 1 mark each; -

; zection- 1 Culprises of o
questions of 2 marks each; Section-C comprises of 10 questions of 3 miarks each ai

Section-I) comprises of 11 questions of 4 marks each.
3. There is no overall choice in this question paper.
4. Use of calculator is not permitted. -
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S Question numbers 1 to 4 carry one mark each

1¥ afe AABC ~ APORE1 AB=65 cm, PQ=10.4 cm, 741 AABC @1 tn";m}mu an, ¥, T APGR #1 1-
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If AABC ~ APQR, AB=6.5 cm, PQ=10.4 cm and perimeter of AABC = ol i, tien find 1,
perimeter of APQR. 9

" Frefera : gecr 60°+ sec 0°

Eve.luate rsec? 60)' 4 sec (°
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sin?12° + sin2 78° %7 ¥ 31 EAIEI

End the value of sin2 12° + sin2 78°,
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For a certain distribution mode and median were found to be 1000 and 1250 respectively

- Find mean for this distribution using an empirical relation,
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Question numbers 5 to 10 carry two marks each.
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Apply Euclid’s division algorithfn tolfimﬁ HCEF of num.bers 4052 and 420. \_)\Qb

Prove that 2+3 5 is an irrational numl:;er.
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" Given the linear equation 9x=2y+5, write another linear equation in these two variables,

such that the geometrical representation of the pair so formed is :

(i)  intersectinglines  (ii)  parallel lines

Pyst ABC o1 osll ABFWACRfag X asny o @ s 2 & 0 L ay=> |

YC=6cm @ 013 XY|[BC & a1 7 |

X and Y are points on the sides AB and AC respectively of a triangle ABC such that S Ly

AB 4
AY=2cmand YC=6 cm, then find whether XY|[BC.
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(l—si'nA).('tan/‘._-}-sec.A). | [*’ 7/ s U
Simplify : | c//"’@'——'/

(1 —sin A’ (tan A + sec A)
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a1 (cm #) 80-85 {85-90 |90-95 |95-100 |100-105 | 105-110 | 110-115
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The distribution of sale of Slﬁtt’i‘s'sold in a month in a departmental store is as under, Calculate

. the modal size ol shirts sold. ;

Size (incms) | 80-85 | 85-90 |90-95 | 95-100 | 100-105 | 105-110 | [10-115 |
|
o 4 S e
Number  of 33 27 85 155 110 45 B
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Calculate the modal size of shirt,
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Question numbers 11 to 20 carry three marks each.
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Use Euclid division lemma to show that cube of any positive intcger is of the torag S

R N |
or 9m + 8 for some integer m.
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Find the zeroes of the quadratic polynomial 9x — 1 and verify the relationship between the zeroes and
the coefficients. |
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Divide the polynomial x —2x + 4x— 18 by the polynomial x — 3 and verity the cwnion alporith,
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Find a quadratic polynomial, the sum and product of whose zeroes are — 10 and 25 respectively.

Hence find the zeroes. ll .
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In AABC from any interior point O,ip the A, OD L BC and OFE 1 AC and OF | AB are drawn.
Prove that OA”+ OB+ OC*=OD?+ OF*+ OF* + AF* + BD* 4 CF2
= ) . .

16 omHfd H AD ¥ FT Afg AB=BC=1cm, 791 CD= 5 cm, 3
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In the figure find AD, if AB=BC =1 em and CD= V7 cm,
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17 €05 63°+ cot 59°— sec 47° I 0° W 45° F i % Tl ¥ vl srpem ¥ i § fofan 3

Express cos 63° + cot 59° — sec 47° in terms of trigoriometric ratios of angles between 0° and 45°

_18 Hﬂaﬁmﬂﬁasaﬁﬂm: N 3

- (secA —cos A). (cot A+tan A) = tan A. secA.
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Prove the identity :

i {sec A — cos-A){cot A+tanA) = tan-A. secA.

‘-wx%ﬁm&fﬁﬁwﬁnmmﬁmﬁ;

A8 (cm #) 150-155 | 155-160 | 160-165 | 165-170 | 170-175 I
[ Torre v 5 5 ; [20 1 5 J
| e S T A =
Heights of students of class X are given in the following frequency distribution :
| Height (in cm) 150-155 |155-160 [160-165 | 165-170 | 1701175 |
| Number of students | 15 8 120 12 5 _;
| Find the modal lieight. g

T forerer 1 Fn X 6 50 BEST 1 St et e 9 Reprd 1 s

S (cm #) | 135-140 | 140-145 145-150 | 150-155 | 155-160 160-165—|
ol @5 8 19 12 14 2 [
; -H‘.@T« |
m.m@,w‘ﬁmfwa?m‘maﬁm@?ﬁm 1
Heights of 50 girls of class X of a school are recorded as follows :
{[ Height (in cm) | 135-140 | 140-145 145-150 | 150-155 | 155-160 | 160-165
: | g——
I| Number  of [5 8 9 12 14 2
girls ‘

Draw a ‘more than type” ogive for the above data
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Question numbers 21 to 31 carry four marks each.
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A sweet shopkeeper prepares 396 gulab jamuns and 342 ras-gullas. He packs them in
containers. Each container consists of either gulab jamuns or ras-gullas but have equal

number of pieces. Find the number of pieces he should put in each box so that number of
boxes are least.
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Yash scored 40 marks in a test, getting 3 marks for each right answer and losing 1 mark for
each wrong answer. Had 4 marks been awarded for each correct answer and 2 marks been

- deducted for each wrong answer, then Yash would have scored 50 marks. How many
questions were there in the test? | .

- Which value would Yash violate if he resorts to unfair means ?
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If a polynomial x4+ 5x3+4x2—10x—12 has two zeroes as —2 and —3, then find the other
zeroes.
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The difference of digits of a two digit number is 5. Also number obtained on reversing the digits is 9
less than the three times of the original pumber. Find t'.e nymber.
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(i)  4PC2=4BC2+AB?

()  4AQ%=4 AB2+BC2

(i) 4PC24+4AQ2=5AC2 |

AABC is right triangle with £B=90°. P and Q are mid-points of AB and BC,
4 Then prove that |

()  4PC%=4BC2+AB?

(i) 4AQ2=4AB2+BC2

(i) 4PC2+4 AQ?=5AC2?

26 feuw T fo F AB 3R CD @ wiw ¥ BD R %F fiig P 30 ¥R & 75 BP=16 m 3 PD=12m &1 4
G CD=16 m MAC=52m &, Tl AB SiR Al sikt IRT, S/ 1 171 & 6 L APC = 00 2l

Ax

B 16m P12m

In the given figure AB and CD are two pillars P is a point on BD such that BP=16 m and
PD=12 m. If CD=16 m and AC=52 m, then find AB and AP when it is given that
ZAPC=90°,

B 16m P12m D
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(i) 3T T AP
(i) aamiﬁrtlﬁqm
o

: ABCD is a rectangle (see figure), such that length of the diagonal ACis 17 cm and sinf = ¥ , then find
A 17

(i) area of the rectangle.
' {ii)  perimeter of thewectangle.

L28 ) : ?Tﬁgec& + 'tana = p%,__?ﬁmﬁsece-—tane =1 4 ?
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A cosh 3K sinb T HH T HIFT :

If secd + tand = p show that secd —tald = — . Hence find the values of cosl and sin0.

g | =

39 'A=90° 3R B=45° AT Sie AT : : 4
(i) sin (A—B) = sinA cosB — cosA sinB
S0 () I co;-(A'—E] - cosA cosB + sinA sinB
Take A =.-90°I and B=45° to verify that :

(i) - sin(A—B) = sinA cosB — cosA sinB
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31
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(kg/ha)¥

(ii) cos (A—B) = cosA cosB + si;nA;sinB . ..'.

O i ¥ 5 i Y S S T = 3, A e S

o= s B
40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75 | 75-80 | 80-85

wdl s dem [ 9 15 118 |40 |26 |18 PRy
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Production yield per hectare of wheat of some farms of a village are given in the followiny

table : Loy ’
Production yield | % T T T
R 40-45 |45-50 | 50-55 |55-60 | 60-65 | 65-70  70-75 | 7580 ' R(-85
(in kg/ha) !
- } _f - : = L iz = i
Number of farms | 1 9 15 18 ‘ 40 26 1 aplen o

| i
Draw a ‘less than type’ ogive and a ‘more 'han type’ ogive for this data.

T e & Qe foaa & am o Al ferenidi = amg A9 fw o wen o ¥ 4
g (4t #) 57 |79 o911 [1113-|1315 [1537 Ji710
faenfefat =t Hear X 15 18 30 50 48 X
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On Sports day of a school, age-wise participation of students 15 shown i e tollowine
distribution :
Age ' _ ;
5-7 -9 . 1911 11-13 | 13-15 |15-17 |17-19
| (in years)

Number of students x 15 18 30 50 48 X

Find the mode of the data. Also find missin;; frequencies when sum of frequencis is 181,



